Teddy

Use 1/4 inch graph paper. Place vertically on your desk.

0 to positive 27

The range of axes:  Horizontal
- 0 to positive 39

Vertical

As you graph the coordinates connect each subsequent graph with the preceding graph,

Begin with: (3 23 (12, 29) Lift pencil and
( 6, 20) (10, 25) hegin with:

(1, 3) (5 19)
Eli 3) (5 13) Lift pencil and (e, 31)
g ?; (11, 3) begin with: (11, 35)

: (13, 35)
E;g Zi Lift pencil and (14, 13) (13, 33)
(:ﬁz' 4) begin with: (15, 13)
(23' 5) (15, 14) Lift pencil and
(23, 7) (12, 9) begin with:
(20, 9) (16, 9) Lift pencil and (17, 31)
(21, 12y (19, 13). . begin with:- (17, 35)
(21, 18) (19, 20) a5 a5)
(26, 21) (16, 22 (11, 3) (15 33)
(27, 23 a2z, 27 (11, 4
:gg gg; (9, 20 (12, o) Lift pencil and
”8' e : 9, 13} (14, 5) begin with:

‘ 12 9) ;
(}8' 25) Lift pencil and i3, 94l
(20, 27) . . ) . (12, 31
(20 31) Lift pencil and begin wilh: (12 33
{2-1' 30) begin with: “f%" )1)
(25 35) {20, 4) e
(25, 38) (19, 26) (21, 6 , .
(24, 39 (19, 20) (23, 7) Llft‘ [)F!r1Ar,l|‘Fmr|
(22, 39) (14, 34) begin with:
(20, 37) {9, 29 _ilt pencil and (15, 3)
(12, 38) (16, 31
(9, 37) Lift pencil and (6. 36) (15, 34)
(6. 39 begin with: ( 4, 35)
(4, 39 (4, 38) Lift pencil and
E g gg; (15, 33) { &, 37 connect:
(7 32) (14, 32) _ _ (14, 32) 10 (13, 33
( 7 28) (14 27) Lilt pencil and (323 1o (5 26
(10, 25) {(12 ;gz begin with: (26, 21) 1o (24, 29)
{10 23) O, . ;

! (22, 35)
{ 8 23 g
(5, 26) Lift pencil ancl (24, 35) FINISH
(3 25) begin with: (24, 38) >

' k | (22, 37)

(14,  27)

13
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